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Jharkhand Police Set - B

1) Which of the following rivers originates from Nasik Hills and falls into the Bay of Bengal?

frrafalRaa afdal & & o9 @ T1ikre vsifeal A Feadl @ iR §7a ©1 @rel # ey el 82 [Question ID

= 315042]

1. Krishna / I [Option ID = 1194905]
2. Godavari / MgTa [Option ID = 1194906]
3. Sutlej / WG [Option ID = 1194907]
4, Kaveri / ®Td¥1 [Option ID = 1194908]

Correct Answer :-
« Godavari / TGIax} [Option ID = 1194906]

2) The United Nations Educational, Scientific and Cultural Organization (UNESCO) was found on

g 31p WMers, TP ok wiephas WTeT (UNESCO) S-TaT TT:-
[Question ID = 315043]

1. 24 October 1945 / 24 3fagaR 1945 [Option ID = 1194909]
2. 16 November 1945 / 16 FdaRX 1945 [Option ID = 1194910]
3. 16 October 1945 / 16 3faga} 1945 [Option ID = 1194911]
4. 27 December 1945 / 27 fa¥aR 1945 [Option ID = 1194912]

Correct Answer :-
+ 16 November 1945 / 16 d&i¥ 1945 [Option ID = 1194910]

3) The headquarters of the ASEAN is located in:-

ASEAN &1 §BITag | fRUd 8:-
[Question ID = 315044]

1. Jakarta, Indonesia / STTdl, SSHIRMAT [Option ID = 1194913]
2. Kathmandu, Nepal / STGHIg, 9T [Option ID = 1194914]

3. Vienna, Austria / fagT, {iReAT [Option ID = 1194915]

4, Brussels, Belgium / g9, afesiad [Option ID = 1194916]

Correct Answer :-
« Jakarta, Indonesia / ST, SSMIRMAT [Option ID = 1194913]

4) Which of the following organisations is related to petroleum?

e A @ i w1 G Ui @ wafta €2
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[Question ID = 315045]

1. SWAPO [Option ID = 1194917]
2. FAO [Option ID = 1194918]

3. OECD [Option ID = 1194919]
4. OPEC [Option ID = 1194920]

Correct Answer :-
« OPEC [Option ID = 1194920]

5) Who was the first recipient of the Jawaharlal Nehru Award?

TATERdTd 8 REPR & YYH UIeaddl di- A2
[Question ID = 315046]

1. Martin Luther King Jr. / TTféT @R 7 SfAER [Option ID = 1194921]
2. U Thant / g ¥id [Option ID = 1194922]

3. Nelson Mandela / &9 &4l [Option ID = 1194923]

4. Aung San Suu Kyi / 3f1<T 8 g @1 [Option ID = 1194924]

Correct Answer :-
U Thant / g ¥id [Option ID = 1194922]

6) The international Court of Justice (ICJ) constitutes how many judges?

RIS =araTer (g ®1 fa =mansdi=n gRT T8+ f3a1 7T €2 [Question ID = 315047]

1. 15 [Option ID = 1194925]
2. 10 [Option ID = 1194926]
3. 25 [Option ID = 1194927]
4. 35 [Option ID = 1194928]

Correct Answer :-
« 15 [Option ID = 1194925]

7) Which of the following States/UTs is benefited from the Krishna River?

P T4 & Fufer@d f weal/au ik wei @ oty gan 82
[Question ID = 315048]

1. South-easterly part of Andhra Pradesh / 3fif USRI &1 Ef\&‘I'UT-Uj YRT [Option ID = 1194929]

2. Madhya Pradesh, Maharashtra and Gujarat / H¢1 eI, HERIY 3R ST [Option ID = 1194930]
3. Maharashtra and Andhra Pradesh /HRTY 3R 378 USSR [Option ID = 1194931]

4. Madhya Pradesh, and maharashtra / A% U®l 3R HERM¥ [Option ID = 1194932]

Correct Answer :-
= Maharashtra and Andhra Pradesh /HERTY 3R 3ty T [Option ID = 1194931]

8) Who was appointed as the Chairman and managing Director of MTNL in March 2017?
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AT 2017 ¥ fhae tadtuua & srene ok wey ez & wu # frgea fbar ar 412 [Question ID =
315049]

1. AK. Garg / €.3&. TR [Option ID = 1194933]

2. Narendra Kumar Yadav / 3% PHR Ylad [Option ID = 1194934]
3. P.K. Purwar / Ul.&. GRAR [Option ID = 1194935]

4, Sunil Kumar / -1 $HR [Option ID = 1194936]

Correct Answer :-
« P.K. Purwar / 4l.%., QRAR [Option ID = 1194935]

9) Who has been appointed as the new Defence Minister after Manohar Parrikar resigned from the
post in March 2017?

HTE 2017 ¥ AR URSR & U A HIGT 31 & a1g fhas! fFAgfaa g vam w=it & ¥ A g€ 42 [Question
ID = 315050]

1. Arun Jaitley / 315Ul Sicdl [Option ID = 1194937]

2. Sushma Swaraj / gYHT ¥R [Option ID = 1194938]
3. Rajnath Singh / IFTY R4 [Option ID = 1194939]
4. Smriti Irani / Sfd ST [Option ID = 1194940]

Correct Answer :-
« Arun Jaitley / 3{%UT Sledl [Option ID = 1194937]

10) According to a report published by Forbes magazine in December 2016. India has become the
largest economy in the world.

fexiar 2016 A wisd uleT gR1 UFHIRE U Ui & garfas yRa gfmar & e gof
$daIa] [Question ID = 315051]

1. Seventh / |Iddl [Option ID = 1194941]
2. Sixth / 4T [Option ID = 1194942]

3. Fourth / EYT [Option ID = 1194943]

4, Fifth / U=l [Option ID = 1194944]

Correct Answer :-
« Fifth / Oi<dl [Option ID = 1194944]

11) As announced in the Union Budget 2017-18 how many anganvadi centers will be development
and employment of underpriviledged people?

%ﬂ;rﬁzgu-is%ﬁﬁwﬁﬁmﬂmhﬁﬁﬁmaﬂﬁaﬁﬁﬁaaﬁaﬁmﬁaﬂﬁﬁa
NI

[Question ID = 315052]

1. 10 lakh / 10 ¢4 [Option ID = 1194945]
2. 12 lakh / 12 <19 [Option ID = 1194946]
3. 14 lakh / 14 T4 [Option ID = 1194947]
4. 15 lakh / 15 € [Option ID = 1194948]

Correct Answer :-
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= 14 lakh / 14 AT [Option ID = 1194947]

12) Who won the 2017 All England Open Men's Singles Title?

2017 3iTd S0 31U U39 Uhd f@arg féa= siiar? [Question ID = 315053]

1. Lin Dan / f& & [Option ID = 1194949]

2. Chen Long / = @i [Option ID = 1194950]

3. Lee Chong Wei / ¥ 91T 33 [Option ID = 1194951]
4. Chen Jin / 94 S [Option ID = 1194952]

Correct Answer :-
« Lee Chong Wei / &t =71 § [Option ID = 1194951]

13) Which of the following do not produce chlorofluorocarbons?

g § ¥ P FARITARIFGTET BT IS T8 HRaT 22 [Question ID = 315054]

1. Air conditioners / 4R &SR [Option ID = 1194953]
2. Deodorants / [$3liSReH [Option ID = 1194954]

3. Washing Machines / aTfRRT #=II9 [Option ID = 1194955]
4. Refrigerators / YThsRex [Option ID = 1194956]

Correct Answer :-
« Washing Machines / a1 #=IH [Option ID = 1194955]

14) Abid Husain Committee was contritured on the matter of:-

anfag g&+ wfifa & amd w geuifiar @t @
[Question ID = 315055]

1. financial inclusion / fa<iTd JHIERIA [Option ID = 1194957]

2. taxes reform / ®X YR [Option ID = 1194958]

3. reform in small scale industries / &9 ST H YR [Option ID = 1194959]
4. bedget reform / §sic YUR [Option ID = 1194960]

Correct Answer :-
« reform in small scale industries / @g I # YR [Option ID = 1194959]

15) Net National Product at market price is equal to:-

IR T W Y& TP IATG F IR g:-

[Question ID = 315056]

1. GNP - Depreciation / 9@ AP IUTG - Hedg™ [Option ID = 1194961]
2. GDP - Depreciation / bl TR IUTE - Hedg [Option ID = 1194962]
3. GNP - Subsidies / Gl BT IMIG- UfeHST [Option ID = 1194963]

4. GNP + Depreciation / I%d IV IMIE + HeYeld [Option ID = 1194964]

Correct Answer :-
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+ GNP - Depreciation / §&d JP1I IMIE - Hed8 [Option ID = 1194961]

16) National Income is:-

iTéTC[GIW%:-

[Question ID = 315057]

1. NNP - Indirect Taxes + Subsides / [ ST IUTE - SUTE IR + 3 [Option ID = 1194965]
2. GNP - Direct Taxes / Gl AP 3G~ U4 PR [Option ID = 1194966]

3. GDP - Indirect Taxes / 9l uiq Jdlq - 3UHE dh [Option ID = 1194967]

4. NNP + Indirect Taxes + Subsidies /L& JP1I IAIG + YA P + AfRTS! [Option ID = 1194968]

Correct Answer :-
» NNP - Indirect Taxes + Subsides / k{l&’ﬂ@ﬂ Jdlq - SUGE P + Il [Option ID = 1194965]

17) After the Revolt of 1857, Bahadur Shah Zafar II was arrested and sent in prison in:-

1857 ¥ fagie & 91q, TeTgy e wuR ity &1 fRvaR fFar war ok e & wrem mm:-
[Question ID = 315058]

1. Rangoon / YA [Option ID = 1194969]

2. Singapore / RITITGR [Option ID = 1194970]

3. London / @cH [Option ID = 1194971]

4. Andaman & Nicobar Islands / 3/8HM 3R A®IER gy GYg [Option ID = 1194972]

Correct Answer :-
 Rangoon / TA [Option ID = 1194969]

18) Which of the following is not an area of sparse population?

8 @ 1 |1 fave smeardl &1 87 T8 82
[Question ID = 315059]

1. Atacama / 3{eTBTHT [Option ID = 1194973]

2. Equatorial regions / S&cliNdd &3 [Option ID = 1194974]
3. South-east Asia / GI&UT - Gd URRIT [Option ID = 1194975]
4. Polar regions / did & [Option ID = 1194976

Correct Answer :-
« South-east Asia / f&0r - gd TR [Option ID = 1194975]

19) Who was elected as the chairman of the International Cricket Council (ICC) in November 2015?

Tdav 2015 # siawTsiy fvde ufvug (snsefivdh) & sy & wu & ot g g A2
[Question ID = 315060]
1. Ashish Nehra / 3iTRITS =1 [Option ID = 1194977]
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2. Shashank Manohar / =Ti& H-Igx [Option ID = 1194978]
3. Manish Pandey / A#+i1¥ Ui [Option ID = 1194979]
4. K.L. Rahul / &.Ud. Jgd [Option ID = 1194980]

Correct Answer :-
« Shashank Manohar / I=Ii& HAI8R [Option ID = 1194978]

20) What was India's rank in 2017 Index of Economic Freedom?

3 Tae=ar @1 Gt 2017 § YR BT &1 R UT1? [Question ID = 315061]

1. 99t / 994t [Option ID = 1194981]

2. 1015t/ 101 di [Option ID = 1194982]
3. 150t / 150ai [Option ID = 1194983]
4, 143"/ 143 g [Option ID = 1194984]

Correct Answer :-
. 143":'/ 1439 [Option ID = 1194984]

21) Wich team won the Hockey India League title in February 2017?

fora &1\ A weadt 2017 A gt sfEar o &1 fAara Siiar UT? [Question ID = 315062]

1. Kalinga Lancers / ST SiRRI [Option ID = 1194985]
2. Dabang Mumbai / &8 4&5 [Option ID = 1194986]

3. UP Wizards / Ut fasTgd [Option ID = 1194987]
4. Delhi Waveriders / faeell dar138H [Option ID = 1194988]

Correct Answer :-
« Kalinga Lancers / el @G [Option ID = 1194985]

22) When was the Battle of Buxar fought?

TR B! ASTS 9 TSI TE? [Question ID = 315063]

1. 1750 [Option ID = 1194989]
2. 1756 [Option ID = 1194990]
3. 1757 [Option ID = 1194991]
4. 1764 [Option ID = 1194992]

Correct Answer :-
« 1764 [Option ID = 1194992]

23) Which of the following is the longest highway in India?

fFPrafaf@a & @ @9 91 4Rd &1 9aR a1 ISHERT 82 [Question ID = 315064]

1. National Highway 27 / IS 27 [Option ID = 1194993]
2. National Highway 48 / SR 48 [Option ID = 1194994]
3. National Highway 52 / XTSI ST 52 [Option ID = 1194995]
4. National Highway 44 / JT8ta 5/ 44 [Option ID = 1194996]
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Correct Answer :-
« National Highway 44 / QTQ’IUTIGTIF‘f 44 [Option ID = 1194996]

24) Who has been awarded Japan's Fukuoka Prize 20167

WU & $PH3NaT PR 2016 | {5 &1 wwri=a far a1 82 [Question ID = 315065]

1. Rajinikanth / IS-@id [Option ID = 1194997]

2. A.R. Rehman / U.3{R. Yg4M [Option ID = 1194998]

3. Ramachandra Guha / IHdg T[T [Option ID = 1194999]
4. Asha Bhosle / 3T HI¥el [Option ID = 1195000]

Correct Answer :-
« A.R. Rehman / T.3{R. IGHI [Option ID = 1194998]

25) Two new AIIMS will be set up in India as stated in the Union Budget 2017-18. One state is
Jharkhand, which is the other one?

2017-18 & FHE guic 2017-18 H IWWAT & IR YR H &I ¢ T W1 frg o ue I eiReEs
2, T BT 82

[Question ID = 315066]

1. Maharashtra / HEIRT¥ [Option ID = 1195001]
2. Gujarat / 7[RI [Option ID = 1195002]

3. Kolkata / @IeieTdl [Option ID = 1195003]

4. Bangalore / SR [Option ID = 1195004]

Correct Answer :-
« Gujarat / SRTd [Option ID = 1195002]

26) Donald Trump, the President of USA, reinstated a ban on emmigration from six countries in
March 2017. Which country was excluded from the said list which was earlier included in the list of
banned countries?

YT I SIET & YUl SHTes ¢r A AR 2017 # ©: = A Iy wR ufady @ f3an few dwr @t
I YA A IEY 7@ 1, il Ugd uiae i i Bt gt J wihe ur?

[Question ID = 315067]

1. Syria / HIRAT [Option ID = 1195005]
2. Libya / dfiferdr [Option ID = 1195006]
3. Iraq / 3% [Option ID = 1195007]
4. Iran / $3H [Option ID = 1195008]

Correct Answer :-
« Iraq / 331% [Option ID = 1195007]

27) Which of the following countries is not a member of G-15 developing countries?

g A @ o1 T xSt -15 F i 22 &1 Wew 7€ 82 [Question ID = 315068]
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1. Egypt / ¥ [Option ID = 1195009]
2. Turkey/ g [Option ID = 1195010]
3. India / HRd [Option ID = 1195011]
4, Brazil / STITd [Option ID = 1195012]

Correct Answer :-
« Turkey/ g@1 [Option ID = 1195010]

28) Which of the following rivers has the largest river basin in India?

YR # 7 Ffdat § | o9 91 9a 981 7! 3R 82 [Question ID = 315069]

1. Indus / ﬁ'ﬁg [Option ID = 1195013]

2. Ganga/™'Tr [Option ID = 1195014]

3. Brahmaputra / SigT9= [Option ID = 1195015]
4. Krishna / I [Option ID = 1195016]

Correct Answer :-
= Ganga/T" [Option ID = 1195014]

29) First meeting of Constituent Assembly was presided over by:-

TRIYT GHT &) Ugell 35P P Se&T:-
[Question ID = 315070]

1. Rajendra Prasad / Yol UdIG [Option ID = 1195017]
2. Dr. Sachchidananda Sinha / 8I. St =T [Option ID = 1195018]
3. Jawaharlal Nehru / SIaTeR dd A8 [Option ID = 1195019]

Correct Answer :-
« Dr. Sachchidananda Sinha / €. Sdftaric R8T [Option ID = 1195018]

30) Adhai Din ka Jhonpra is a:-

3rers 39 &1 HiueT ve g:-
[Question ID = 315071]

1. mosque / HRIE [Option ID = 1195021]
2. tower / IR [Option ID = 1195022]

3. tomb / &R [Option ID = 1195023]

4. museum / TUBTAY [Option ID = 1195024]

Correct Answer :-
« mosque / HIRIG [Option ID = 1195021]

Topic:- JSSC_Set32_GSci
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1) A body moves through a distance of 3 m in the following different ways. In which case is the
maximum work done?

wo fis 37 fafts il @ 3 wiex 3t gl 7o wear ¢ | a4 3iftie o1d fog wma § g

[Question ID = 314631]

1. When pushed over an inclined plane / 58 Ta g &1 Sl SHAS Tdg YR eaahT f&aT [Option ID = 1192940]

2. When lifted vertically upward / Sid & = § SR IS [Option ID = 1192941]

3. When pushed over smooth rollers /STd [eid+1 e &1 Ydeh! 4T [Option ID = 1192942]

4. When pushed on a plane horizontal surface /STd Ud THAT Jdg U HMIGR A= # edeT faam [Option ID =
1192943]

Correct Answer :-
« When lifted vertically upward / 518 34 G211 T U 331 [Option ID = 1192941]

2) A car is moving along a straight level road with constant speed. Then:-

T &R ditft Heo W v € 7 A &1 3 |, da:-
[Question ID = 314632]

1. the work done on the car is infinite / R R forar 77 &1H 3RAHT & [Option ID = 1192944]
2. the work done on the car is zero /@R TR a1 14T HH T b SRR ? [Option ID = 1192945]
3. the work done on the car is a measure of the gravitational potential energy / ®R TR f&ar SiF are d™

TTEAGYU ST GHIIT Foil &1 T UM ¢ | [Option ID = 1192946]
4, the work done on the car cannot be found / @R W [T 7T &1 HT Ul ] I YT [Option ID = 1192947]

Correct Answer :-
« the work done on the car is zero /&R UR 4T T HTH A P RIR 8 [Option ID = 1192945]

3) A flying aeroplane has:-

% IS aTdl §aTS WeTe # §IdT 2:- [Question ID = 314633]

1. only potential energy / da GHIfAd SHuf [Option ID = 1192948]

2. only kinetic energy / Hdd TTfaoT Sl [Option ID = 1192949]

3. both potential and kinetic energy / THTfad @ Tfdsl 3ol &I [Option ID = 1192950]
4. none of the above /378 ¥ ®1s gl [Option ID = 1192951]

Correct Answer :-
« both potential and kinetic energy / SHIfdd g TIfast Swif &1MT [Option ID = 1192950]

4) With the increase in temperature, the density of a substance, in general,

AT & F W U # Yu=d1, WIH=Id: 98 §idl & [Question ID = 314634]

1. increases / dgd [Option ID = 1192952]
2. decreases / 9cd [Option ID = 1192953]
3. first increase then decreases / Ugd Sgdl & fthe el & [Option ID = 1192954]
4. first decrease then increases / Ugd Hedl ¢ fthe §gdl § [Option ID = 1192955]

Correct Answer :-
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» decreases / Y<d [Option ID = 1192953]

5) Impulse is:-

3 39 PEd o:- [Question ID = 314635]

1. a scalar quantity /T 3{[¢=T HEAT [Option ID = 1192956]

2. a vector quantity / T Ifa=1 AT [Option ID = 1192957]

3. neither a scalar nor a vector / 7 @l Ush TWheR 3R 7 81 T dac [Option ID = 1192958]

4. sometimes a scalar and sometimes a vector / B4 T Tha 3R Foft T Jaex [Option ID = 1192959]

Correct Answer :-
» a vector quantity / Te ISR HIAT [Option ID = 1192957]

6) A long-jumper runs before jumping because:-

T ddl ¢ T Fo § UgA SISl 3, Fifdb:- [Question ID = 314636]

1. he covers a greater distance / 9§ @dl g3l d9 ®Rdl & [Option ID = 1192960]

2. he maintains momentum conservation / d8 TIfd TR&UT TR 1 &l & [Option ID = 1192961]
3. he gains energy by running / a8 GIS®R Sl 3ifoid el & [Option ID = 1192962]

4. he gains momentum / 98 TIfd U Sdl § [Option ID = 1192963]

Correct Answer :-
« he gains momentum / 8 TIfd G&HSdl g [Option ID = 1192963]

7) When water is heated from 0°C, its volume

oia arHt @1 0 f&ht §. v 7+ b wirar €, ) s9@T aiegd SR [Question ID = 314637]

1. increases / ST & [Option ID = 1192964]

2. decreases till 4°C / 4°C dh HH @FIT%‘ [Option ID = 1192965]

3. remains the same /dg| &1 871 [Option ID = 1192966]

4. first increases then decreases /dgdl HGHT% by Hedm %‘ [Option ID = 1192967]

Correct Answer :-
» decreases till 4°C / 4°C dd ®H I % [Option ID = 1192965]

8) A photocell converts light energy into

TS Bie! O THT @ Soil I $9H 980T & [Question ID = 314638]

1. chemical energy /RTETAMAE il [Option ID = 1192968]
2. electrical energy /fagad Suil [Option ID = 1192969]

3. heat energy /39I Gl [Option ID = 1192970]

4. mechanical energy /dif@ 341 [Option ID = 1192971]

Correct Answer :-
« electrical energy /[dgad el [Option ID = 1192969]

9) By which of the following activities can a magnet lose its magnetism?
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(A) Hammering
(B) Heating
(C) Keeping in a box

78 @ = frareamy & us ga® U1 gadd @) ad1 82

() dieH
() RAFH A
FhaRATEI A

[Question ID = 314639]

1. only A and B / %dd T 3{RR &t [Option ID = 1192972]

2. only A and C / %dd U 3R HI [Option ID = 1192973]

3. only B and C / %dd & 3R It [Option ID = 1192974]

4. All A, B and C / 3+t T, ot 3R 9t [Option ID = 1192975]

Correct Answer :-
« only A and B / %4dd U 3R &t [Option ID = 1192972]

10) Two organisms that normally reproduce asexually by budding are

3 geAeha st b arIER W (afE) T6iftd & sRarviiie gaedeT $3a 8
[Question ID = 314640]

1. amoeba and paramecium / 3taT 3R TRIFIREH [Option ID = 1192976]
2. hydra and yeast / 81381 3R WHR [Option ID = 1192977]

3. yeast and spirogyra / WHR 3R TRRET [Option ID = 1192978]

4. hydra and paramecium / 81381 3R TR [Option ID = 1192979]

Correct Answer :-
« hydra and yeast / 81331 3R WHR [Option ID = 1192977]

11) To test for proteins in a food sample, we add 2-3 drops of copper sulphate to a small sample
mixed with a little water. To this, we add about 10 drops of sodium hydroxide. What colour in the
mixture indicates presence of protein?

e & T § N $1 &g F Re e 4R A ol § ve ol Aud B et 1R "ebe 91 2-3 93
Waﬁ%%l 39 TRE B9 WIfSay eggleiags $1 10 €8 I1a 3 1 fygyor § B9 |1 71 Wi it diegertt
Fara 8|

[Question ID = 314641]

1. Deep green / TTgX1 &x1 [Option ID = 1192980]

2. Orange / TR [Option ID = 1192981]

3. Bright yellow / 71831 U@l [Option 1D = 1192982]

4. Purple or violet / Tt T gTade [Option ID = 1192983]

Correct Answer :-
« Purple or violet / ST TT IRIAE [Option ID = 1192983]
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12) Which of the following gases does not contribute to acid rain?

9 9 @19 9 A wRre Y= (auf) 78 aardt?

[Question ID = 314642]

1. Sulphur dioxide / TeBR SIS3HIGIZS [Option ID = 1192984]

2. Nitrogen dioxide / :llééjﬁ‘l:l ‘G'IEG{T?:}HEE [Option ID = 1192985]
3. Carbon dioxide / ®Te STA3{TRITZS [Option ID = 1192986]

4. Nitrous oxide / FIT3CH HIAITZS [Option ID = 1192987]

Correct Answer :-
« Carbon dioxide / PTe STI3HTRITZS [Option ID = 1192986]

13) Where in the body do you expect to find tricuspid valve and mitral valve?

IRR H IS F8i W RIS aTed 3R fAew area fre §aa 82 [Question ID = 314643]

1. Lungs / %S [Option ID = 1192988]

2. Alimentary canal / URfY® el [Option ID = 1192989]
3. Heart / €&d [Option ID = 1192990]

4. Kidneys / ‘fo [Option ID = 1192991]

Correct Answer :-
+ Heart / 8ad [Option ID = 1192990]

14) A circular disc of copper has a symmetrical hole at its centre. The disc is uniformly heated.The
diameter of the hole wiill

aﬁﬁﬂﬂwﬁ‘ﬂm%ﬁ'%ﬁﬂﬁwmﬁﬁ%ﬁ% | 98 & te W w0 A 7w @R 7 | g &1 srawter

[Question ID = 314644]

1. increase / dg-l [Option ID = 1192992]

2. decrease / YcHI [Option ID = 1192993]

3. remain the same / 9@l &1 871 [Option ID = 1192994]

4. become indeterminate / A8/ €Y ST § [Option ID = 1192995]

Correct Answer :-
+ increase / dgl [Option ID = 1192992]

15) The amount of heat required to raise the temperature of a body by 1°C is called

TR F1a9aM 1 3. §. 99 9@ & forg siaféra wif &t 7 o1 ------- PEI AT
[Question ID = 314645]

1. latent heat / T &1 [Option ID = 1192996]
2. specific heat / fafR1¥ AT [Option ID = 1192997]

3. thermal capacity / ¥ &HdT [Option ID = 1192998]

4. none of the above / 371 ¥ @13 gl [Option ID = 1192999]
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Correct Answer :-
« thermal capacity / Y% &dT [Option ID = 1192998]

16) If the temperature scale is changed from °C to °F, the numerical value of specific heat will

gfe IaH B °oC A °F H g wrar & o) sy 1 Y e deg wm gnft
[Question ID = 314646]

1. increase / §gdl & [Option ID = 1193000]

2. decrease / gl § [Option ID = 1193001]

3. remain unchanged /3fAfR&d-1a gl 8 [Option ID = 1193002]

4. nothing can be said / & it 781 &gl ST Habdl [Option ID = 1193003]

Correct Answer :-
« decrease / Uedl § [Option ID = 1193001]

17) Which part of the flower becomes the seed on maturity?

B BT DI AT U URUe §17 TR e a1 W1a1 82 [Question ID = 314647]

1. Ovary /3812 [Option ID = 1193004]

2. Ovule /STSITY] [Option ID = 1193005]

3. Female gamete after fusion with male gamete / HIGT X & Y Hegq B giH$ S Il ? [Option ID = 1193006]
4. Pollens / GIdi=g [Option ID = 1193007]

Correct Answer :-
= Ovule FSﬂ\_rqu [Option ID = 1193005]

18) When the object is at focus of a concave mirror, the image is formed at:-

S 3add U Sadd gUUr  Bied W gl 2, df ofd o1 Frafor gar #:-
[Question ID = 314648]

1. focus / &% [Option ID = 1193008]

2. centre of curvature / shdl & &g [Option ID = 1193009]
3. within focus / &g T [Option ID = 1193010]

4. infinity / 3{<d [Option ID = 1193011]

Correct Answer :-
« infinity / 3d [Option ID = 1193011]

19) Kerosene burns more rapidly than coke because

FIH P F aiftrep Aot & Sorar ¢ |
[Question ID = 314649]

1. it has got more oxygen in it than coke / 391 ®Id ¥ wa1GT 3ifaRfisiH & [Option ID = 1193012]
2. it is a liquid hydrocarbon / 9g T ddl E’E@Hﬂiﬁ (] [Option ID = 1193013]
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3. it has a low ignition temperature / 38 & S8 dT9HH g [Option ID = 1193014]
4. none of the above / T3 i g [Option ID = 1193015]

Correct Answer :-
« it has a low ignition temperature / 399 & 4 dIHA ? [Option ID = 1193014]

20) Out of the following, which frequency is not clearly audible to the human ear?

frafaf@a & |, #19 | emgfty @y v A A &1 & T 47 82 [Question ID = 314650]

1. 30 Hz / 308¢W [Option ID = 1193016]

2. 30,000 Hz / 30,000 <9 [Option ID = 1193017]
3. 300 Hz / 300 B&w [Option ID = 1193018]

4. 3000 Hz / 3000 §&9 [Option ID = 1193019]

Correct Answer :-
« 30,000 Hz / 30,000 BEH [Option ID = 1193017]

Topic:- JSSC_Set32_GSJ

1) Total number of Loksabha constituencies in Jharkhand is
TGS A AHayT & B pa HEn 81

[Question ID = 314041]

1. 14 [Option ID = 1190580]
2. 12 [Option ID = 1190581]
3. 13 [Option ID = 1190582]
4. None of these\ 378 & @Is 8! [Option ID = 1190583]

Correct Answer :-
= 14 [Option ID = 1190580]

2) Which of the following is NOT a Scheduled Tribe reserved Vidhan Sabha constituency?
fFrafafaa & & o9 sgafa s=enfa sirféra Ry &= 78t 82
[Question ID = 314042]

1. Deoghar / AR [Option ID = 1190584]
2. Latehar / @IdgR [Option ID = 1190585]
3. Simdega / f4TS [Option ID = 1190586]
4. Khunti / G¢T [Option ID = 1190587]

Correct Answer :-
« Deoghar / @R [Option ID = 1190584]

3) What is the geographical area of Latehar District ?

raeR R &1 Whiifere &awa faar g 2
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[Question ID = 314043]

1. 3651 sq. km / 3651 af fdHt [Option ID = 1190588]
2. 4651 sq. km / 4651 @i faH [Option ID = 1190589]
3. 3742 sq. km / 3742 & {5+ [Option ID = 1190590]
4. 4742 sq. km / 4742 9 faHt [Option ID = 1190591]

Correct Answer :-
« 3651 sq. km / 3651 & Tt [Option ID = 1190588]

4) Barhait Valley lies in which of the following districts of Jharkhand ?
Wed ol IREs ¥ Fafifla Saf A fra R dfRa g 2
[Question ID = 314044]

1. Sahibganj / |Ifgs Sl [Option ID = 1190592]
2. Dumka / gH®T [Option ID = 1190593]

3. Deoghar / §d%R [Option ID = 1190594]

4. Dhanbad / Y-Tdlq [Option ID = 1190595]

Correct Answer :-
« Sahibganj / TIfgsTisT [Option ID = 1190592]

5) In which year Lohardaga got the status of district ?
g o & dgvem & R @1 gt foar 2
[Question ID = 314045]

1. 1983 [Option ID = 1190596]
2. 1981 [Option ID = 1190597]
3. 1991 [Option ID = 1190598]
4. 1993 [Option ID = 1190599]

Correct Answer :-
= 1983 [Option ID = 1190596]

6) With which of the following two states Jharkhand shares its western boundaries ?
FPrafafaa & @ fo S =t & a1y gRas s ufdndt dtarsi «Y wrgn svarg 2
[Question ID = 314046]

1. Uttar Pradesh, Chhattisgarh / IR U, iﬁﬂ@]‘é [Option ID = 1190600]
2. Chhattisgarh, Odisha / ©UIRITE, NS [Option ID = 1190601]

3. Odisha, West Bengal / 3fifS$, gf¥H §7Tel [Option ID = 1190602]

4. Uttar Pradesh , West Bengal / STRYGRI, Uf3H &71e [Option ID = 1190603]

Correct Answer :-
« Uttar Pradesh, Chhattisgarh / 3T USSI, BI9TG [Option ID = 1190600]
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7) Which of the following districts does not share its boundaries with any of the neighbouring states
which Jharkhand as a state shares its boundary with ?

fFrafafEd el 3§ @ 17 ar forar fedt +ff weiht g & 1y st Farsit &) g 98 sar @

[Question ID = 314047]

1. Khunti / @1 [Option ID = 1190604]

2. Gumla / TTHAT [Option ID = 1190605]

3. Simdega / R [Option ID = 1190606]

4. East Singhbhum / gdf Rig¥H [Option ID = 1190607]
Correct Answer :-

« Khunti / Gt [Option ID = 1190604]

8) Keso, Akto, Gurio, Gukhana Nadi are the main tributaries of river

41, arpey, TRved, TRaTo T8 It Bt go1 SuAfeEi B1
[Question ID = 314048]

1. Barakar / SRI&R [Option ID = 1190608]
2. Koina / 1T [Option ID = 1190609]
3. Sankh / 2@ [Option ID = 1190610]

4. Bokaro / §l&R] [Option ID = 1190611]

Correct Answer :-
« Barakar / SRT®Y [Option ID = 1190608]

9) Jamtara is a district in Jharkhand created by separating from :-
STHATS], ARES BT U foren g, ol | YYH I ST91 41 B |
[Question ID = 314049]

1. Dumka / gH®T [Option ID = 1190612]
2. Giridih / fISTg [Option ID = 1190613]
3. Deoghar / 4d®R [Option ID = 1190614]
4. Dhanbad / 44dTq [Option ID = 1190615]

Correct Answer :-
» Dumka / gH®I [Option ID = 1190612]

10) Government of Jharkhand has set a target to double farmer's income. The deadline set to
achieve this target is year

ﬁwﬁﬁmﬁaﬂmaﬁﬁwmﬁma&uwglWﬁ&qaﬁmaﬂ%ﬂiﬁmﬁﬂf&am

[Question ID = 314050]

1. 2022 [Option ID = 1190616]
2. 2023 [Option ID = 1190617]
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3. 2021 [Option ID = 1190618]
4. 2025 [Option ID = 1190619]

Correct Answer :-
+ 2022 [Option ID = 1190616]

11) In which year JHASCOLAMPF was formed ?
JHASCOLAMPF &1 T3 g ad & fobar war ur 2
[Question ID = 314051]

1. 1963 [Option ID = 1190620]
2. 1965 [Option ID = 1190621]
3. 2001 [Option ID = 1190622]
4. 2002 [Option ID = 1190623]

Correct Answer :-
» 1963 [Option ID = 1190620]

12) What is the full form of DDUGJY ?
DDUGIY &1 JUf U &1 § 2
[Question ID = 314052]

1. Deendayal Upadhyaya Gram Jyoti Yojana / Gl1&gTal SUIEE U SIfd GISHT [Option ID = 1190624]

2. Deendayal Upadhyaya Grameen Jeevant Yojana / Gicdrel SUIIR UTHIU Sila IISHT [Option ID = 1190625]
3. Deendayal Upadhyaya Gram Jeevan Yojana / GI&dTel SUIHId U1 Siid ISl [Option ID = 1190626]

4, Deendayal Upadhyay Gan Jan Yojana / diFcdrd SUTEY 10 & dIsiHl [Option ID = 1190627]

Correct Answer :-
« Deendayal Upadhyaya Gram Jyoti Yojana / dHcaTd SUTArd Ue Saifa arern [Option ID = 1190624]

13) What amount (in Rs.) has been alloted by Government of Jharkhand in its budget for year 2017-
18 for establishment of Tana Bhagat Development Authority ?

AT WA faT WIftaor &1 RITYAT & o 9 2017-18 & 3(UA guic # FARWS AXHR gRT a1 I (3.
#) srafeca ST 8 ?

[Question ID = 314053]

1. 10 crore / 10 BRI [Option ID = 1190628]
2. 5 crore / 5 @S [Option ID = 1190629]

3. 15 crore / 15 @30S [Option ID = 1190630]
4. 20 crore / 20 RIS [Option ID = 1190631]

Correct Answer :-
« 10 crore / 10 IS [Option ID = 1190628]

14) The watercourse for Hundru Waterfall is river.
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§S% S@-YUTd & el BT YaTg TR

[Question ID = 314054]

1. Subarnarekha / g&URET [Option ID = 1190632]
2. Kharkai / ¥RT3 [Option 1D = 1190633]

3. Damodar / &HIGR [Option ID = 1190634]

4, Koel / S [Option ID = 1190635]

Correct Answer :-
« Subarnarekha / ﬁ'@ﬁ"@ﬂ [Option ID = 1190632]

15) Jubilee Park is situated in which city ?
Sgfaeht urd fore wrew A R« 82
[Question ID = 314055]

1. Jamshedpur / STRIGYR [Option ID = 1190636]
2. Ranchi / R [Option ID = 1190637]

3. Dhanbad / ¥-I&1& [Option ID = 1190638]

4. Ramgarh / IH g [Option ID = 1190639]

Correct Answer :-
« Jamshedpur / Gm‘ﬁ?"fﬁ [Option ID = 1190636]

16) What is Sendra?
Hazr w1 82
[Question ID = 314056]

1. Annual Collective hunting / a1t Tfe® RI&R [Option ID = 1190640]
2. Local wine / RIF1d HIGRT [Option ID = 1190641]

3. Folk dance / Fi’ﬁw"-{ﬂ [Option ID = 1190642]

4. Folk song / @i ftd [Option ID = 1190643]

Correct Answer :-

» Annual Collective hunting / Tt TTI{8® fRIPHR [Option ID = 1190640]

17) Tusu Festival is celebrated with which of the following festival?

g Held Pafifed dier # @ feud wry w=man s g2
[Question ID = 314057]

1. Makar Sankranti / AR Gehifa [Option ID = 1190644]
2. Holi / 8Idil [Option ID = 1190645]

3. Diwali / GIarell [Option ID = 1190646]

4. Naag Panchami / AT Y=g} [Option ID = 1190647]

Correct Answer :-
« Makar Sankranti / H&R Tehifd [Option ID = 1190644]
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18) "The Grammatical Construction of the Ho language"” was published in the year

"g TARTA HICaRIT TH & B Aol BT YhTI=H ay H g uT|

[Question ID = 314058]

1. 1840 [Option ID = 1190648]
2. 1849 [Option ID = 1190649]
3. 1856 [Option ID = 1190650]
4. 1877 [Option ID = 1190651]

Correct Answer :-
+ 1840 [Option ID = 1190648]

19) Isko Caves are located in
) THTY # R g
[Question ID = 314059]

1. Hazaribagh / BSTRIGTT [Option ID = 1190652]
2. Palamau / UdT¥H [Option ID = 1190653]

3. Ranchi / X! [Option ID = 1190654]

4, Bokaro / S1®RI [Option ID = 1190655]

Correct Answer :-
« Hazaribagh / 9RIEFT [Option ID = 1190652]

20) "Mukaddam" is the name given to the Village Chief in tribes.
Sonfa ® 99 & gfEar 1 "geeH” dar S g |
[Question ID = 314060]

1. Baiga / ST [Option ID = 1190656]
2. Bheel / 3fie [Option ID = 1190657]
3. Asur / 3i¥R [Option ID = 1190658]
4. Gond / TTi§ [Option ID = 1190659]

Correct Answer :-
+ Baiga/ am [Option ID = 1190656]

21) Aalha Udal is considered as the heroic personality of tribe.
3ATeRT Had ST & A1 ST g
[Question ID = 314061]

1. Banjara / §9IRT [Option ID = 1190660]
2. Asur / 3 [Option ID = 1190661]
3. Gond / TiS [Option ID = 1190662]
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4. Ho / €1 [Option 1D = 1190663]

Correct Answer :-
« Banjara / §9RT [Option ID = 1190660]

22) Bathudi Tribe is also called
@St ST B Wt gar T 2|
[Question ID = 314062]

1. Bhumij / YRS [Option ID = 1190664]

2. Dehri / G831 [Option ID = 1190665]

3. Singabonga / RFTEITT [Option ID = 1190666]
4. Hadiya / /341 [Option ID = 1190667]

Correct Answer :-

» Bhumij / 43S [Option ID = 1190664]

23) Shahpur Fort was built by

eyR fhan & GRT ST BT 41|

[Question ID = 314063]

1. Gopal Rao / TUTe 4 [Option ID = 1190668]

2. Hemant Rao / 8Hd ¥d [Option ID = 1190669]

3. Gajghant Rai / TTsTd¢ I [Option ID = 1190670]

4. Phani Mukut Rai / T Y Y [Option ID = 1190671]

Correct Answer :-
« Gopal Rao / TIUTe @ [Option ID = 1190668]

24) The only Anglo-Indian village located in Jharkhand is

FREUE F ¥ sHA Te-fea TIia o1 AW 2
[Question ID = 314064]

1. Maikluskigan;j / A aRa 17T [Option ID = 1190672]
2. Daltonganij | STl [Option ID = 1190673]

3. Mcleodganj / A% ferITETST [Option ID = 1190674]
4. Darjeeling / GTSHIGHT [Option ID = 1190675]

Correct Answer :-
« Maikluskiganj / H @17l [Option ID = 1190672]

25) Thala, a musical instrument is prepared from
CIGRERIGIED] BRI SuR férar s 2|

[Question ID = 314065]
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1. Bronze / Si¥T [Option ID = 1190676]

2. Aluminium / TegHIfATH [Option ID = 1190677]
3. Iron / 8T [Option ID = 1190678]

4. Nickel / T [Option ID = 1190679]

Correct Answer :-
« Bronze / &14T [Option ID = 1190676]

26) Which of the following dance is performed in Dussehra by teacher and student both together ?
e # frafaf@a & & o7 91 T e ok o 34 gRT U a1y fPar smar g 2
[Question ID = 314066]

1. Dasany / 34 [Option ID = 1190680]
2. Baha / @18l [Option ID = 1190681]

3. Doha / @IgT [Option ID = 1190682]

4. Donged / G118 [Option ID = 1190683]

Correct Answer :-
» Dasany / &8Y [Option ID = 1190680]

27) The place where the revolutionaries of Dhaka, Memon Singh and Kolkata were preaching
secretly ?

21T, AU Rig 3R Flasar & wifaeR) fFE ®RIF R gUHR T TOR $3d 3 ?
[Question ID = 314067]

1. Jamshedpur / STHRIGYR [Option ID = 1190684]
2. Ranchi / Tl [Option ID = 1190685]

3. Bhagalpur / HITeIYR [Option ID = 1190686]

4. Ramgarh / YMTg [Option ID = 1190687]
Correct Answer :-

« Jamshedpur / SHRIGYR [Option ID = 1190684]

28) The person who was shot dead in Deoghar on 26th August 1942 during the Quit India
Movement was

YR B! G P R 26 T 1942 B! quR § Tell el F WIS 11 ara Al q
[Question ID = 314068]

1. Asharfi Laal / 3/RRW! dTd [Option ID = 1190688]

2. Sheikh Bhikhari / ]g *RaRT [Option ID = 1190689]
3. Ahmad Hussain / 3fgHg E@'fr [Option ID = 1190690]
4. Hari Mishra / R fli%1 [Option ID = 1190691]
Correct Answer :-

« Asharfi Laal / 3R @l [Option ID = 1190688]
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29) Under the leadership of the which commander of Mughal Emperor Akbar, the Mughal army
invaded the Nagvanshi ruler Madhukaran Shah (Madhu Singh) of Chotanagpur, in 1585, defeated
him and made him subordinate to the Mughals ?

IS SIS SPax & b Jafa & Agea & gua 1 A 1585 H BITHNTR W & ANTEGRI IS AYBIT
=e (Y i) W AT foran, 39 g aur S e $1 Srefeey g ?

[Question ID = 314069]

1. Shahbaaz Khan Kambu / Qg€ WIH &g [Option ID = 1190692]
2. Ali Azmi / 3fel 35T [Option ID = 1190693]

3. Abu Fazal / 3{§ HGldl [Option ID = 1190694]

4, Khuda Bakhsh / &l s/%@%1 [Option ID = 1190695]

Correct Answer :-
» Shahbaaz Khan Kambu / RgdTsl WIH & [Option ID = 1190692]

30) Bulu Imam is related to which tribal folk art ?
g 3AM 59 Sy die oar 4 awfia g ?
[Question ID = 314070]

1. Sohrai and Kohbar / HIgX1s 3R ®IgaR [Option ID = 1190696]
2. Janani Jhumar / ST 3R [Option ID = 1190697]

3. Bhitichitra / “ifaf== [Option ID = 1190698]

4. Ghatwari / g¢dR_I [Option ID = 1190699]

Correct Answer :-

« Sohrai and Kohbar / TIgT8 3R HIgeR [Option ID = 1190696]

Topic:- JSSC_Set32_MAnLR

1) Pointing towards a girl in the picture, Sarita said, "She is the mother of Neha whose father is my
son." How is Sarita related to the girl in the picture?

Bl # U APl B 3T SURT B §U AT A Bgl, "qg el 31 A1 8 Rrger far @ der & afivar &1 wia
# 39 TSl § FT §9Y 8?2 [Question ID = 313721]

1. Mother / i [Option ID = 1189359]

2. Aunt / 3id} [Option ID = 1189360]

3. Cousin / 9= |fg- [Option ID = 1189361]

4. None of these / 374 ¥ ®1g -Tg! [Option ID = 1189362]

Correct Answer :-
« None of these / 95 ¥ I 78! [Option ID = 1189362]

2) Arrange the given words in alphabetical order and tick one that comes last.

3T U wegi B S RIS W & T iR Wil Wee Sid A SH7aT B IW W = g |

[Question ID = 313722]
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1. Abandon / B &1 [Option ID = 1189363]

2. Actuate / SHIMT [Option ID = 1189364]

3. Accumulate / STHT &A1 [Option ID = 1189365]
4. Acquit / 31 @=AT [Option ID = 1189366]

Correct Answer :-
« Actuate / 3& Y [Option ID = 1189364]

3) A monkey climbs five metres at the beginning of each minute and then slips back two metres in
the next minute before he again starts climbing. If he starts his ascent at 8:00 am, at what time will
he first touch a flag 17 metres from the ground?

TS X g¥ fieie o) gwaid § uig Hiex gear € ok a9 3Tell IR Te-1 Y B3 & Uga et fiFe a8 &t
Hex T fhae raT 2| 9fe 98 et 9erE Uid: 8.00 99 Y& $al ¢ a1 98 WHE & 17 Hed S @ M
T B B9 wHa e ugd YU

[Question ID = 313723]

1. 8:10 a.m / WId: 08:10:00 [Option ID = 1189367]

2. 08:06:00 a.m / WTd: 08:06:00 [Option ID = 1189368]
3. 08:09:00 a.m / UTd: 08:09:00 [Option ID = 1189369]
4, 08:12:00 a.m / UTd: 08:12:00 [Option ID = 1189370]

Correct Answer :-
« 08:09:00 a.m / UTd: 08:09:00 [Option ID = 1189369]

4) The clock shows time 12 minutes past 8 o'clock. Find its reflection time if the mirror is place in
front of the clock.

TS Ul # 8 W 12 e &1 awy g €1 9t v dur &1 vl & WA 3@ o, o wfafde # e e
aTeT HY FT IN? [Question ID = 313724]

1. 4:12 [Option ID = 1189371]
2. 4:24 [Option ID = 1189372]
3. 3:48 [Option ID = 1189373]
4. 4:48 [Option ID = 1189374]

Correct Answer :-
» 3:48 [Option ID = 1189373]

5) In a city, 40% of the adults are illiterate while 85% of the children are literate. If the ratio of the
adults to that of the children is 2 : 3, then what percent of the population is litrate?

TS e H 40% U fAReR § wafd 85% =) WigR €| afe aaw v a=a &1 3gurd 2: 3 §, o fpa-i
wfawrd mardl WI&R 82 [Question ID = 313725]

1. 20% [Option ID = 1189375]
2. 25% [Option ID = 1189376]
3. 50% [Option ID = 1189377]
4. 60% [Option ID = 1189378]

Correct Answer :-
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» 60% [Option ID = 1189378]

6) In a chess tournament each of six players will play every other player exactly once. How many
matches will be played during the tournament?

Trave &1 T wfagifrar § 9t 6 et v gk Raardt & o1y ver te aR @i | wigifar § feas garad
W WTE? [Question ID = 313726]

1. 36 [Option ID = 1189379]
2. 30 [Option ID = 1189380]
3. 15 [Option ID = 1189381]
4. 12 [Option ID = 1189382]

Correct Answer :-
« 15 [Option ID = 1189381]

7) Anuj started walking positioning his back towards the sun. After sometime, he turned left, then
turned right and then towards the left again. In which direction is he going now?

e G F ok fta 3 5T I 38T 81 O THY 91, 98 18 3R Foa1 3 bR o1 ok gear 2 ok R T
R 918 3R Ysd1 81 98 o« &9 fo=m & &1 81 82 [Question ID = 313727]

1. North or South / 3TR 4T GI&UT [Option ID = 1189383]
2. East or West / Gd 37 Gfi [Option ID = 1189384]

3. North Or West / 37 91 Uf&9 [Option ID = 1189385]
4. South or West / Gf&r a1 af¥ [Option ID = 1189386]

Correct Answer :-
« North or South / 3R TT G&0T [Option ID = 1189383]

8) If '+" means 'x’, ="' means '+’, =" means '-'and ‘x"means'=’, then 16 + 4 x8-4 - 12 =72

g+ dr e x, —d e  r HT A — qUT X BT+ E, W16 +4x8-4+12=2
[Question ID = 313728]

1. 84 [Option ID = 1189387]
2. -2 [Option ID = 1189388]
3. 2 [Option ID = 1189389]
4. 0 [Option ID = 1189390]

Correct Answer :-
« 0 [Option ID = 1189390]

9) By interchanging which two signs equation will be correct?
49+7x2-19+3=-48
o= 3 nfordita wftrare &Y smuw # TR sgeq W gHiERr 98t 8l W

49 -7 x 2—19 + 3 = — 48 [Question ID = 313729]
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1. + and x / + d¥UT x [Option ID = 1189391]
2. + and + / + YT + [Option ID = 1189392]
3. x and + / x dYT + [Option ID = 1189393]
4, —and + / —d¥YT + [Option ID = 1189394]

Correct Answer :-
« x and + / x dYT + [Option ID = 1189393]

10) Which sequence of mathematical symbols can be placed at question mark (?) in the given
equation to correct the equation?

2621822421628247?226
o wifvrdta et @t i e aiiewor & uy RE (2) F M R @1 w® e 98 8 s

26718?224?16?87?47?226
[Question ID = 313730]

1.+, +, =, +, x, + [Option ID = 1189395]
2. %, +, =, +, —, + [Option ID = 1189396]
3.+, x, , +, — > [Option ID = 1189397]
4. +, -, +, X, x, — > [Option ID = 1189398]

Correct Answer :-
s +, X,—, +,—, > [Option ID = 1189397]

11) A rat 20 m towards East and turns to right, runs 10 m and turns to right, runs 9 m and again
turns to left, runs 5 m turns to left, runs 12 m and finally turns to left and tuns 6 m. Now which
direction is the rat facing?

U g1 4d ot 3R 20 Hex 91 o 3R 2, 10 Hiex 3t o= o€ 3R S W 8, 9 Wl ds w e ard
aﬁ?asm%,slﬂaaﬁsma@mwgﬂ:ﬂaaﬁm%mm%éaﬂ?w%aﬁwrﬁﬁw%n
39 g1 fw fa=m fa=m & ok &1 3871 €2 [Question ID = 313731]

1. East / 11?5 [Option ID = 1189399]

2. West / Gf#H [Option ID = 1189400]

3. North / 3TX [Option ID = 1189401]

4. North-east / Gﬁ?—‘{éf [Option ID = 1189402]

Correct Answer :-
« North / 3<R [Option ID = 1189401]

12) At the end of a business conference, the ten people present all shake hands with each other
one. How many handshakes will there be altogether?

S fav T aie & ofd W Iufya wlt oo &@hr oo ger @ 714 iramd €1 96T oo e et ar gy
fremar A @12 [Question ID = 313732]

1. 20 [Option ID = 1189403]
2. 45 [Option ID = 1189404]
3. 55 [Option ID = 1189405]
4. 90 [Option ID = 1189406]
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Correct Answer :-
« 45 [Option ID = 1189404]

13) In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If he attempts all 75 questions and secures 125 marks, the number of
questions he attempted correctly, is:-

ot wdten # ue faendf &1 vde 9 sara & e 4 sie e € o ud® 7o wiare & e 39T 1 8
Hedr 21 afe 39wt 75 Ui & IR 38 & 3R 39 125 oi frat €, ) 39S gr1 2 U 9l S F1 wen
22 [Question ID = 313733]

1. 35 [Option ID = 1189407]
2. 40 [Option ID = 1189408]
3. 42 [Option ID = 1189409]
4. 46 [Option ID = 1189410]

Correct Answer :-
= 40 [Option ID = 1189408]

14) In the following question, four words have been given, out of which three are alike in some
manner and the fourth one is different. Choose out the odd one.

fou T uR faweul # & &7 A § 3 Uo 99 21 U] aH e 91 ugu Sl g
[Question ID = 313734]

1. Bangalore / SR [Option ID = 1189411]
2. Nagpur / -TITYR [Option ID = 1189412]

3. Bhopal / 1T [Option ID = 1189413]

4. Patna / UcHT [Option ID = 1189414]

Correct Answer :-
» Nagpur / TFTYR [Option ID = 1189412]

15) Directions:

In an Exhibition seven cars of different companies - Cadillac, Ambassador, Fiat, Maruti, Mercedes,
Bedford and Fargo are standing facing to east in the following order.

1. Cadillac is next to right of Fargo.

2. Fargo is fourth to the right of Fiat.

3. Maruti car is between Ambassador and Bedford.

4. Fiat which is third to the left of Ambassador, is at one end.

Which of the following statement is correct?
oy gagm & o fgen-fdan)

@er:ﬁ@%ﬁm% Hufgl B gra B - Sieas, TAwey, fbue, wohy, alide, RREIE ok B g &
He |

1. SfEc® Brl 3t gl 3R TSl 21

2. BT fhue & orff ol A WA W gl

3. Aofd VS SR dSBIs ST H Bl
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4. foue, & T P ot SR N VEA W R, T SR W 2

frrafafaa & @ a9 91 $y= Il 82 [Question ID = 313735]

1. Maruti is next left of Ambassador. / ATfa Trawex &1 arff 3R § [Option ID = 1189415]

2. Fiat is next left of Cadillac. / fhuc Hfsa® @ arff 3R & [Option ID = 1189416]

3. Maruti is at one end. / ATSfd TH BR W § [Option ID = 1189417]

4. Ambassador is next second to the right of Fargo. / THeRiER BTl &1 G 3R gaR ®IF W § [Option ID =
1189418]

Correct Answer :-

« Maruti is next left of Ambassador. / ATRfd TGS HI a3k & [Option ID = 1189415]

16) If + means /, / means - , - means x and X means + , then what will be the value of 24 + 8/2 —
6x6=7

e+ PS8, /PTod -8, -Fraf x g x af + 8,124 +8/2-6x6="2
[Question ID = 313736]

. 21 [Option ID = 1189419]
. 12 [Option ID = 1189420]
. -3 [Option ID = 1189421]
. -10 [Option ID = 1189422]

DWW N~

Correct Answer :-
« -3 [Option ID = 1189421]

17) In the certain code language if '+' means'/', '-' means "X/, '/’ means '+’ and 'x' means '-' then
answer the given questions is:-

16x12/18 +24-8

FeuraT A afe '+ BT 3/, - B A ', 1 1 S 4 SR x T 3 - & A FrufifRe wiieru w Ew
ELIEY!

16x12/18 +24-8

[Question ID = 313737]

1. 8 [Option ID = 1189423]

2. 10 [Option ID = 1189424]
3. 12 [Option ID = 1189425]
4. 14 [Option ID = 1189426]

Correct Answer :-
« 10 [Option ID = 1189424]

18) Mahesh walks 20 metres towards North. He then turns left and walks 40 metres. He again turns
left and walks 20 metres. Further, he moves 20 metres after rurning to the right. How far is he from
his original position?

HEW I fe2 # 20 Hiex weran ¢ 1 fibx a8 a1 3i¥ gS v 40 Hiex waar g1 a8 fibe & 18 ok gsar ¢ ¥ 20
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ez g g1 a1g # g1E 3R Yoo ag 20 Hiew Taan 81 a8 vt gur fRufa | fram gr 82 [Question ID =
313738]

1. 20 m / 20 Ht [Option ID = 1189427]
2. 30 m / 30 H} [Option ID = 1189428]
3. 50 m / 50 T [Option ID = 1189429]
4. 60 m / 60 4t [Option ID = 1189430]

Correct Answer :-
» 60m /60 Ht [Option ID = 1189430]

19) Reena is twice as old as Suneeta. Three years ago, she was three times as old as Suneeta. The
present age of Reena is:-

1 oY 37 AT | g @1 A ITa ved 98 GAitar @ O A €t ot S 9 adue su e
[Question ID = 313739]

1. 6 [Option ID = 1189431]
2. 7 [Option ID = 1189432]
3. 8 [Option ID = 1189433]
4. 12 [Option ID = 1189434]

Correct Answer :-
= 12 [Option ID = 1189434]

20) How many times in a day the hands of the clock are in a straight line but not together?

e 39 ¥ fa-t ar vt &) ) Ygai ve Wil Yar A gt € afF v wry T8 gtz
[Question ID = 313740]

1. 24 [Option ID = 1189435]
2. 22 [Option ID = 1189436]
3. 12 [Option ID = 1189437]
4. 11 [Option ID = 1189438]

Correct Answer :-
e 22 [Option ID = 1189436]

Topic:- JSSC_Set32_Math

1) A man sold a cow at a loss of 18%. If he had been able to sell it at gain of 12%, it would have
etched Rs. 90 more than it did. What was the cost price (in Rs.)?

TS ATGH! 3 1Y B 18% & 1H W 94 | ufe 98 12% &1 a1y sifefa &= urar @ 3¢ add= § 90 %.
S W Bid | 9 T4 (%, H) a2

[Question ID = 313971]

1. 300 [Option ID = 1190299]
2. 600 [Option ID = 1190300]
3. 150 [Option ID = 1190301]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247)

4. 400 [Option ID = 1190302]

Correct Answer :-
» 300 [Option ID = 1190299]

2) Find the smallest fraction which is exactly divisible by each of 7/9 , 4/13 and 20/17 is

YATH QUIe FId TR, St 7/9, 4/13 3R 20/17 3t ¥ yofa: o e g2
[Question ID = 313972]

1. 140 [Option ID = 1190303]
2. 140/3 [Option ID = 1190304]
3. 280 [Option ID = 1190305]
4. 70/3 [Option ID = 1190306]

Correct Answer :-
« 140 [Option ID = 1190303]

3) If (a/3) = (b/4) = (c/5) then (a+b+c)/b is equal to
gfd a/3 = b/4 = ¢/5 @ (a+b+c)/b BT HA B |
[Question ID = 313973]

1. 3 [Option ID = 1190307]
2. 4 [Option ID = 1190308]
3. 5 [Option ID = 1190309]
4. 1 [Option ID = 1190310]

Correct Answer :-
« 3 [Option ID = 1190307]

4) A man deposits Rs. 10,000 in his bank account on start of every year for three years. If the bank
gives him compound interest of 6% compounded annually. What amount (in Rs) will the man
receive after the end of three years?

TS iR 307 9 WId # T a8 &) FE3Td A i 61 & [o1T 10,000 TUY STHT Hal 2| Al §b 34 ariie
6% TPl TSI &aT § ol oI a4l & 3id | IW safaa B! fpa- A (Fud 7) farenfiz

[Question ID = 313974]

1. 33746 [Option ID = 1190311]
2. 32476 [Option ID = 1190312]
3. 33476 [Option ID = 1190313]
4. 35476 [Option ID = 1190314]

Correct Answer :-
+ 33746 [Option ID = 1190311]
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5) Express 0.04% as fraction?

0.04% P Ui & &9 # g2a?

[Question ID = 313975]

1. 1/2500 [Option ID = 1190315]
2. 2/2500 [Option ID = 1190316]
3. 1/1250 [Option ID = 1190317]
4. 1/10000 [Option ID = 1190318]

Correct Answer :-
« 1/2500 [Option ID = 1190315]

6) Find the value of x in 138.009 + 341.981 - 146.305 = 123.6 + x?
138.009 + 341.981 - 146.305 = 123.6 + x H x &1 HH JId H?
[Question ID = 313976]

1. 120.08 [Option ID = 1190319]
2. 120.85 [Option ID = 1190320]
3. 210.8 [Option ID = 1190321]
4. 210.085 [Option ID = 1190322]

Correct Answer :-
« 210.085 [Option ID = 1190322]

7) Amit can finish a work in 24 days, Sumit in 9 days and Lalit in 12 days. Sumit and Lalit started the
work and left after 3 days. How much time would Amit take to do the remaining work?

s faredt ol ot 24 37 & qof #= Toar 8, 9t ot w1 Y o fRF & ofik afera ot wrd &Y 12 fa1 & qof
H TP 8| G SR ATTd BT BT Y P § SN 3 o & 91¢ OIS &d £ Td &1 99 g H19 FI
quf @3+ & framr wug @i

[Question ID = 313977]

1. 10 days / 10 &1 [Option ID = 1190323]
2. 15 days / 15 &4 [Option ID = 1190324]
3. 8 days / 8 f& [Option ID = 1190325]

4. 12 days / 12 f& [Option ID = 1190326]

Correct Answer :-
« 10 days / 10 f&- [Option ID = 1190323]

8) The speed of a boat in still water is 5 km/h. If it can travel 13 km downstream and 7 km
upstream in the same time, then what is the speed ( in km/h) of the stream?

Tid ot & 719 B wfa 5 feefl/ e 8| afs a8 e wwE gwg A 13 e srgyare ok 7 et Suduars @ dt @
@t urT &t Tre (et ger #) @ ghite

[Question ID = 313978]
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1. 3 [Option ID = 1190327]
2. 2 [Option ID = 1190328]

3. 2.5 [Option ID = 1190329]
4. 1.5 [Option ID = 1190330]

Correct Answer :-
« 1.5 [Option ID = 1190330]

9) Which of the following option will be true if the expression 'H = G = K > F' is definitely true?
g 9@ *H < G = K > F ufa: 9w 8, of g gu Riweat & & wm W ghme
[Question ID = 313979]

1. K=H [Option ID = 1190331]
2. G=F [Option ID = 1190332]
3. H>F [Option ID = 1190333]
4. F>G [Option ID = 1190334]

Correct Answer :-
* K=H [Option ID = 1190331]

10) Number of diagonals in a polygon having 8 sides is

g PR agye sy e disTs RematEen gl
[Question ID = 313980]

1. 20 [Option ID = 1190335]
2. 24 [Option ID = 1190336]
3. 16 [Option ID = 1190337]
4. 10 [Option ID = 1190338]

Correct Answer :-
+ 20 [Option ID = 1190335]

11) If AM and DN are respectively altitudes of two similar triangles ABC and DEF then Area of
triangle ABC / Area of triangle DEF is equal to

Tfg AM TUT DN HHR: SH1 FH=Y Y= ABC Ud DEF & e g ot fys ABC &1 &%« / iy DEF &1
eV & T I

[Question ID = 313981]

1. (AM/DN)? [Option ID = 1190339]
2. (AB/DE)?2 [Option ID = 1190340]
3. (AC/DF)?2 [Option ID = 1190341]
4, (BC/EF)? [Option ID = 1190342]

Correct Answer :-
« (AM/DN)? [Option ID = 1190339]
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12) ABCD is a cyclic trapezium in which sides AD and BC are parallel. If angle ABC = 62° then what
is the measure of angle BCD?

ABCD U% T 1a JHevd Tqifel 8, foraat AD TuT BC Yol TRER JUI=R 8| afe H101 ABC = 62° &), dt ®iur
BCD T U< &1 81?2

[Question ID = 313982]

1. 62° [Option ID = 1190343]
2. 124° [Option ID = 1190344]
3. 118° [Option ID = 1190345]
4. 18° [Option ID = 1190346]

Correct Answer :-
+ 62° [Option ID = 1190343]

13) The difference in length of parallel sides of a trapezium inscribed in a circle is 9 cm, if distance
between parallel sides is 6 cm then difference in lengths of its non parallel side is

TP g # Ry ue THee 9gde & aHiar Yorsit $ dars o1 oiaw 9 4. §, uﬁwmumaﬁ%ﬁaaﬁgﬁ
siq‘ﬂ’r € ol 5P AR Y13l P TaTS BT SR FT ERM?

[Question ID = 313983]

1. 0 cm / 0 9.4, [Option ID = 1190347]

2.3 cm /3 9.4, [Option ID = 1190348]

3. 15 cm / 15 Q.41 [Option ID = 1190349]

4. Cannot be determined / Feiffea T8t foar ST wdbar % [Option ID = 1190350]

Correct Answer :-
e« 0cm /0 3.4, [Option ID = 1190347]

14) Iftan x = 4 /5, 0° < x < 90° then what is the value of sin x cos x?
Tfd tan x = 4 /5, 0° < x < 90° &, ¥ sin x cos x DT HF FT GNI?
[Question ID = 313984]

1. 20/41 [Option ID = 1190351]
2. 41/20 [Option ID = 1190352]
3. 20/9 [Option ID = 1190353]
4. 9/20 [Option ID = 1190354]

Correct Answer :-
« 20/41 [Option ID = 1190351]

15) 1f sin® 8=1, then find the value of cos 6?

Tfe sin® @ = 1 &, Tl cos 8 BT HIF FId HI?

[Question ID = 313985]
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1. 0 [Option ID = 1190355]

2. oo [Option ID = 1190356]

3. 1/2 [Option ID = 1190357]
4. 1/v/2 [Option ID = 1190358]

Correct Answer :-
« 0 [Option ID = 1190355]

16) For which value of A, "sin 2A = 2 sinA" is true?
A & 59 919 & 1T "sin 2A = 2 sinA” G &2
[Question ID = 313986]

1. 0° [Option ID = 1190359]
2. 30° [Option ID = 1190360]
3. 45° [Option ID = 1190361]
4. 60° [Option ID = 1190362]

Correct Answer :-
= (0° [Option ID = 1190359]

17) If the ratio of areas of two circles is 9:16 then the ratio of their circumferences will be

gfe 3§ gl & Swdl BT T 9:16 7 o @ uRRRN &1 srgura g
[Question ID = 313987]

1. 3:4 [Option ID = 1190363]
2. 9:16 [Option ID = 1190364]
3. 16:9 [Option ID = 1190365]
4. 4:3 [Option ID = 1190366]

Correct Answer :-
« 3:4 [Option ID = 1190363]

18) Solve :- (0.1 x 0.1 x 0.1+ 0.02 x 0.02 x 0.02)/(0.2 x 0.2 x 0.2 + 0.04 x 0.04 x 0.04) = ?
A BN :- (0.1 x 0.1 x 0.1+ 0.02 x 0.02 x 0.02)/(0.2 x 0.2 x 0.2 + 0.04 x 0.04 x 0.04) = ?
[Question ID = 313988]

1. 0.0125 [Option ID = 1190367]
2. 0.25 [Option ID = 1190368]
3. 0.2525 [Option ID = 1190369]
4. 0.125 [Option ID = 1190370]

Correct Answer :-
+ (.125 [Option ID = 1190370]
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19) How long a bus would take to reach its destination which is 600 km apart, if it travels with a
speed of 100 km/h, stopping 3 minutes after every 75 kms.?

Tfe ue 9 100 fFft/der #t 71fa | 5= 75 fFaniler F a1 3 fie & fw Tt 8 @ X 600 fFafier @
Tided a% ygeq & fore fan wwa anm?

[Question ID = 313989]

1. 6 hours 23 minutes / 6 ©c 23 e [Option ID = 1190371]
2. 6 hours 21 minutes / 6 ©¢ 21 e [Option ID = 1190372]
3. 6 hours 27 minutes / 6 |¢ 27 fii9e [Option ID = 1190373]
4. 6 hours 25 minutes / 6 ¢ 25 e [Option ID = 1190374]

Correct Answer :-
« 6 hours 21 minutes / 6 ©¢ 21 firFe [Option ID = 1190372]

20) One of the factors of x2-5x+6=0 is

x2-5x+6=0 P1 TP 0P |
[Question ID = 313990]

1. x+3 [Option ID = 1190375]
2. x+2 [Option ID = 1190376]
3. x-3 [Option ID = 1190377]
4. x-1 [Option ID = 1190378]

Correct Answer :-
« X-3 [Option ID = 1190377]
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